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For real numbers a, b, ¢,d, a’,b', ¢, d', consider the system of equations .
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az’ +ay’ +br+cy+d=0 ZWI‘W COvMJ\' be
/J d2? +dy? + bz +cy+d =0. 9

If S denotes the set of all real solutions (z, y) of the above system of equations, then the number of elements in S can never be
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The limit
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Let i be a positive integer having 27 divisors including 1 and i, which are denoted by dy, . . ., dy7. Then the product of dy, da, .. ., dy;7 equals
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Suppose F': R = Risa WhICh hasfexactly one local maximum. [Then which of the following is true?

(a) F' cannot have a local minimum. r

(b) F must have exactly one local minimum. r M“
(c) Fmust have ageast two local minima. )‘ ‘JWI)
\ﬁﬂust haV a global maximum or a Iocal minimum. A
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Suppose 2 € C is such that the imaginary part of z is non-zero ang hen
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then

(a)-25.
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If f: [0,00) — Ris a continuous fun
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thenforallz > 0,
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(a) f(z) =e"In2.
(b) f(x) =e *In2.
(© f(x) =2%
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In the following figure, OAB is q rcle. The unshaded regio rcle to which O A and C D are tangents.
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If C'D is of length 10 and is par, IIIt OA, then the area of the shaded re g n the above figure equals _ _It_ff(\_ﬁz— _“_“‘1, .
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The polynomial 210 + 25 + 1is divisible by
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